
lb.to#39 The part of
Area of go. 3×+2ytt -- b

. .

that lies
"
in the first octant.
-

PMI -This is just a triangle , so this is very doable w/o

calculus
.

Solution . z -- b - 3x - 2g

parametrization :

Flay) -- Lx , y , b - 3x -2g)
Y
n

z f
'I
"

means x ? O y
? O z ? O

XZO

a 's:*.



So the integral for area :
2 3-Ix

gfftds -
- f f I lrixrgldydx

s 0

I - - -

-

How to parametrize a surface given in Cartesian ?

A " No general strategy .

But if one var can

be solved for in terms of the other Tuo, then

use the other two as parameters.
-

x'tytz = 4
X = 2 sins cost of 6) ET
y
= Zsinol sin F

OE Oe 2x

Z = 2 cos §



Advice for matching) identifying parametric surfaces :
think about the grid curves

4Wd one of a. v to be const.)

ex ) (a cosy, using y )
16.6
#
B

v const-s lines (through a - axis,
perpendicular toit)

U const - helikes

so picture VI .

16.6 # 14 : both families of grid curves are
parabolas

so picture VI



From pollen :
11 die (div F)
-

scalar fr
.

-
nonsense

2) F -- tf for some f
rat = tix of = J curlofgradisz

pf : use claimant 's Thin .

3) F x'F = 8 land its curl is then,} us
4) You can interpret tutor calc. operations in 1/22

,

refer to p .

1108 - 1109 (end of 816.5 ) .

-

i5) ldivofcarlisz-e.ro



Rude link's a-
'

II
, F. Zz)

"

this is not an actual "vector
"

If = III. Ig .

⇒f
-

- f#f
, Igf , #f)

i.e
. Cf×

, fy , tz

D. ( P,Q , R>
= Pt Iya t }zR
-- R,tQytRz .

6) I claim D. hyfxtg) -- O hero softer,
it!fat,

"

egx.gy.gs



Check by direct computation :

'fxeg : des ft! I, If
gx gy of

= ( fygz-fz.gg , fzgx - fxgz ,
fxgy - fygx )

D. Gf xx g)

-

- ftp.f-f#..-t.Igy-taXgx)
+ Htt ftp.g-f.gg/.-f#y)
+ If +¥. - f¥-fyg

where things cancel b/c of datth .


